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Attempt five questions in all.
First questic.m is compulsory.

All questions carry equal marks.
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Write short notes on any mwo : Tt T

(@) Impact of change in input prices on aggregate supply

curve,

(b)  Impact of domestic price level on net exports and

domestic economy.

(¢) Planned Investment and its- determinants.

(@)  Frictional unemployment and structural unemployment.

el & w wfera feoft fafem

(@ A HHd § e @ wg g @w W
T |

(b) TRE FHG TR F Yo T SR Ry sAfemEen
R YUE

© frifw o s Frte

(& FUMEF KA iR ECEFeHE: A |

Derive IS and LM curves. Show the determination of

equilibrium income and interest rate in IS-LM model. 15
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Define inflation. What are the causes of inflation ? 15
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Discuss in detail the current and capital accom:ats components
of balance of payments. 15
g T # W o i wd @ e
forega. = wifSw)

Derive long run aggregate supply curve. Explain the adjustment

process when the economy is above potential GDP in the

short run. 5,10
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Explain the short run Phillips curve. Derive the long run Phillips

curve. ‘ 15
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¥ Derive the demand and supply curves of foreign exchange.
Explain the determination of equilibrium exchange rate in a
flexible exchange rate system. 15
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8. Show labour market equilibrium in the classical model. Also
derive the aggregate supp_ly curve in the classical model.10,5
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There are eight questions in all.
Attempt any five questions.

Each question carries 15 marks.
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'

Write short notes on any fwo : (7.5,7.5)
(a) I.bng run Aggregate Supply Curve

(b) Open Economy Multiplier

(¢) Crowding Out Effect

(d) Natural Rate of Unemployment.
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Derive the IS curve. Explain the cause of shift in the IS

curve. 15
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What is the impact on equilibrium level of aggregate
output (income) and the interest rate in each of the following
cases : 15
(/)  Government increases nominal money supply‘

(i) Government decreases net taxes

(iif) Government increases its own expenditure. 15
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Explain determination of equilibrium GDP and Price level in
the short run. Show the impact of aggregate demand shock

on equilibrium GDP and Price level in the context of short
run aggregate supply curve ? 15
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5. Explain the concept of potential GDP. Why is the long run

aggregate supply curve vertical ? 15
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6. Explain the main components of the current and the capital

accounts of Balance of Payments. 15
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% Elucidate various theoretical explanations for the existence of

unemployment. 15
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8. Explain the factors that affect exchange rate in an

economy. 15
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